ADVANCED RUBBER PRODUCTS

1 e

8 E

hua 0 ? Dm.

2 = 5

- @) =)

. © e

% \g o -Dn

QL o @S 3

o © B O

c ‘n

= 2 e
- D)

T 2 Es <

o % H

5 <

> W, m

95 E

5 o 88

c ~ B

o = B

N X S

-” 5 f

R -

. = e 0

o X B SE

£ In [§S 2>

S o e ©b

° @) 0o

o © o

@ & < Qo

c ~ e = -

(=] mv,m Ss

2 s 38 =

7 2 55 k=

"aseg ule yum paijddns jjog paziuees ONN 04-8/. - SI0keINSU| AME9 B 9F
‘aseg ule9 yym paliddns jjog paziueaies ONN 0L-v/€ - SIOkeINSU| AMGE 8 ‘GZ ‘Gl
'/°620 ISNV UHM 80UepIodde Ul a1 suolsuswip aseg pnig pue dwe|d -

‘uisay Axod3 Buisn apew sI pos 8102 pijos sse|biadi4

dwe|d 3|qed pue aseq uien =T-go
a|oy paddel ,STO+ ,% =V€
dwe|d 9|gea sapn|au| =T N169 =69 dwe|d |es3aju| =D

Div. of TMP Technologies Inc.

ugisap |e1dads =ds NI9Y =9¥ NI3U 4, -NA $19npo.d
Xed| Y3IH =dH MISE =S€ 28U D, =ND 19qqny
(349 40 Joy) Bseq uieo =go MIST=ST| |  |EdIIdA=A | pasueApY

suondo oN =)jue|g 2UOI|IS =)IS AJST =GT |euozIIoH =H | 3sod aur =41

¥ | st -] H | d1 |- dv |

uol3edo| SN adAy
suondo 3 |eld1e|N 23e)|oN s3uini4 puj Joie|nsu

T-99)SST-Hd1-dYV :9|dwexa mn_-mom mz_u_

101e|NSUl JUNOW 01 1]0q paziuen(es g/, sapnjaul 's150d AY 53 97 4oy pasn aseq uies|  z-Ago-dwy]

Joje[nsul Junow 01 1joq paziueajed , i7/€ sapnjou| 's3sod AY GE 'S¢ ‘ST J0J pash aseq ulen T-A99-dYVY

| ooz [ vv | oy | ose | ooz | oee | (ez)ooo’s | (szo)oovt | (szr)oosz | (09s)tze | (og€e)sT6 | ST | .S10+68/2 | (€14) 18T | 69 | dHIS69-AdT-duY
| ooz | oe | oce | ote | sot | 88t | (cd)ooo’s | (szo)oovt | (szrioosz [ (sv)eer | (Settlev | £ [ .ST0+6:8/2 |(059)96e | 9y [  MSOv-Ad1-duy]
L oot [ ot | et | ovt | 99 [ 98 | (ec@)ooo’s [ (szojoovt | (szt)oosz | (961)cz | (eeeleet | v [.St0+0T-w/E|(652)20T [ ST | MSST-AdT-duv|

J01e|NSUI JUNOW 01 3|0 paziueA(es 8/, sapnjaU| 's1sod A 63 '9F 'dH-GE 40j pasn aseq uies]  z-HE9-dwY]

J0}E|NSUl JUNOW 0} 3|0 paziueAles , /€ sapnpul s1sod AY GE 'G¢ 'GT J0) pasn aseq ulen g

| ooc [ vy | orv | ose | ooz [ oez | (eeJooo’s | (szo)oovt [ (s'er)oosz [ (09s)ozz | (og€e) 416 | ST [ .510+6:8/2 [(ST/)T8T [ 69 | dHIS69-Hd1-d¥Y
| ooz | ww | ory | ose | ooc | oee | (ed)ooo’s | (szo)oovt | (s'zroosz | (oss)ore | (c8er)ows | 8 [ .ST0+6:8/c | (b14)T'8T | 69 [  ¥569Hd1-duy]
| ooc [ oe | oe | ote | 8ot [ 88t | (ceJooo’s | (szo)oovt [ (serjoosz [ (ssy)zer | (Settlowy | ¢ [ .S10+6:8/2 [(Ts9)osz| 9y |  MS9-Hd1-duv]
| oot | ez | stz | 9t | cot | ser | (cz)ooo's | (seo)oovt | (s'zroosz | (9o€)oer | (06oT)6zy | & [ .STO+6:8/2 | (09)T'8T | SE | dHSSEHdId¥v
oot | st | we | 8 | et | zer | (ze)ooo’s | (szo)oovt | (szroosz | (ere)eet | (9ts)eoz | S [.STO+OTb/€|(69€)SwT | ST |  ¥SSZHd1d¥v
| oot | ot | et | ovt | 99 | 98 | (czJooo’s | (seoloovt | (szroosz | (9emew | (eeedeer | v [LSTO+OT/E|(SS)00T | ST | ¥SSTHd1-d¥v

(An) (A1) (A1) (A1) (A1) (A1) (N1) sqi (N31) sai (N31) sqi (ww) your | (ww) youy (ww) your | ssep | saquinn Sojered
XeNl AIY | 3593 A4 | 83N 041D | sod 0410 [1@M 044d | A1a 044d | yrBuans peol peol asuelsig asuelsig : n y18ua1 | a8eyjon
a|Isual J1an3|nue) 19A3|11ue) uy Aiag a8eyea uondas X,
usisag Xe|N | payidads 13

=dyVv

Itageinsulators.com

ivo

h
techsales@advancedrubberproducts.com

WWW.arp-

ing, NY 14591

Wyom

6110 Lamb Road °

Phone

585.495.6526

585.495.6231 * Fax

Launch Printing Form 14325 - Rev. 04-23 (44036)



Silicone Polymer Horizontal Line Post Insulators

ARP-LPH-69SKGB

ARP-LPH-35SKGB

Silicone Polymer Vertical Line Post Insulators

=

| |
452 " !

| i
¢354 \ !

pry

GAIN BASE ARP-GBH

ARP-GBH-1 = 3/4” Bolt
ARP-GBH-2 = 7/8” Bolt

ARP Horizontal Gain
Base is inter-change-
able with most other
industry bases and can
be mounted to existing
6” center to center pole
mounting holes.

ARP-LPV-15SK

635mncl44inches)

mm(2.05 Inches) DIA

5

ARP-LPV-46SK

649.5nm(2557 Inches)

)

"170mm(6.69 Inches) DIA.

ARP-LPV-25SK

713mm<28.07 Inches)

T

63.5mm(l.44inches)

52mm(205 inches) DIA.

'T70mm6.69 inches) DIA.

.

ARP-LPV-69SK

Th

I

ARP-LPV-35SK

ARP-LPV-69SK-HP

CABLE CLAMP
[\

"\5 ’

CONDUCTOR RANGE

PART NUMBER
MIN MAX

ARP-ATC-150 .375” 1.06"

GAIN BASE ARP-GBV

o=

ARP-GBV-1 = 3/4” Bolt ARP-GBV-2 = 7/8” Bolt




